SHMITHSHOP.

Septe 21s8t-1912.

//@ "r::

100 Sets #7 Wheels 3/0 and 3/4 Tired Complete with H-6-=—i/4R-E. Tire.

Cperation & ateriale

# 7 Wheels B.Gr. #0 Fl. 100 sets,? 7.11}
Priming, 4 Gals,” 1.10
Chip & Joint,
Cut Roll,Straighten &

Weld
Shrink on Tires,
Drill & Countersink,
Bolting,
Felloe Plates,?/8 Coach,800 pese

40 1bs. @ 6+1/5

3062 lbse @ 2.78

Tire Bolts, 3/16 x 1%, <1600 " @ 15-1/8¢
Drive Screws, 7/8 #10,56C0 1bs.

38-8/9 Gr. @ 11k¢
Box & True, 15 lbs. Lead 3 MY

-~ Above based on 1912 price for Steel,

Labor, Q«He Tot.Labor. Costoe

711450 711 .50
4440 2450 55% 3.87 8427
3.00 65% 4.95 4.95

8312 $450 n 15467 98479
4.00 o 6460 6460

6400 o 9.90 9.90

5.00 " 8ecb 8425

2448 248
2.10 2.10
4,47 4 .47
1.13 3.50 65% 5.77 6490
809420 33450 55.01 864.21

all other items 1913 rates apply --



100 Sets #2 .heels 3/2 & 3/6 Tired

Sept. 218t-191Z.

Complete with 7/8 x 1/4 R.E.Tire.

~— -

Operation & Material, Labor, O.H. Zot. Lab. Cost.
#2 Wheels B. Gr, 1 Fl. 100 sets 0 7.11%, 711.50 711450
Priming, 4 Gals.? 1.10 4440 2.50 55% 387 8.27
Chip & Joint, 3400 65% 4495 &.95
Straighten,Roll & Weld, 3550 1bs. 1.97F 70.11 5.00 " 8425 78436
Shrink on Tires, 3.0 " 5477 577
Drill & Countersink, 6400 n 9.90 9.90
Bolting, 6.00 " 9.90 9,90
Felloe Plates,?/8,800 pese 25 lbs. 4% 1.06 1.06
Tire Bolts,3/16 x 13,7200 pes. @ 13-1/8 9.45 9445
Thin Washers,3/16, 5600 ",61bsd.12 72 W72
Box & True, 15 lbs. lead, e T 1.13 3.50 " 5.77 6.90
798457 29.50 48441 846 .78



SMITHSHODP, Sept. 21, 1912,

100 sets #7 Vheels, 3/0 & 3/4 tired complete with 7/g"

So0lid éhannel tire.

-----------------------------------------

- Operations % Material. Labor. O0.H. Tot. Lab. Cost.
#7 Wheels B Gr, #0 Fl, 100 sots ©
7.11¢ 711.60 711.80
Priming, 4 Gal @ 1,10 4,40 2.50 56 4 3.87 8.27
Chip and Jjoint, 3.00 65 4 4,956 4,95
Cut, Roll, Straighten & Veld,
2425 1bs., Tire @ 2.48 60.14 9,50 . 15,67 75.81
Shrink on Tires, 4,00 Y 6,60 6.60
Drill and Countersink, 6.00 o 9.90 9,90
Bolting, 5,00 “ 8.25 8.25
Felloe Plates, 7/8 Coach, 800 pes.
40 1bs., @ 6-1/5, 2.48 2.48
Tire Bolts, 3/16 x 1%,
1600 1bs. @ 13-1/8 2,10 2.10
Drive Screws 7/8 #10, 5600,
38-8/9 gr. 0 11} ¢, 4.47 4,47
Bore and True 15 lbs.Lead @ 74 ¢, 1.13 3.50 " 5.77 6.90
786.22 3%.50 55.01 841,23

Above based on 1912 price For steel - 2ll other itens

1913 rates applye.



S MITHSHOCP.

S =

100 Sets #7 Wheels 3/0 & 3/4 tired complete with 7/8 z 1/4 R.E.Tire.

Operation & Haterial, Labor,
#7Wheels B. Gr. #0 F1,100
sets 2 7.11% 71150
Priming, 4 Gal. 2 1.10 4440 2.50
Chip & &oint, 3.00
Straighten,roll & weld,
3287 1lbs Tire @ 1.97% 64490 5.00
Shrink on Tires, 350
Drill & Countersinic, 6.00
Bolting, 6.00
Felloe Plates,7/8,800 pcse
25 1bs. @ 4% 1.06
Tire Bolts, 3/16 x 13,7200 pes.

a 13-1/8 9445
Thin Weshers, 3/16 5600 pcs.
6 lbs. 2 12¢ 72
Box & True, 15 1bs. lead < 7§ 1412 3450

793.17 29.50

O' HQ

55%
65%

"
L
"

"

5 -

O
R

Bapt s 218t-1912.

Tots Labe Coste.
711.50

387 8.27
4,95 4.95
8425 7316
577 SeT7
990 9.90
990 8.90
1.06

9445

72

5.77 6.90
48041 841.58



SHITHSHOP, sept. 21, 1912.

"‘-'._-,. e

100 sets #7 Wheels, 3/0 & 3/4 tires complete with 1"

g0lid chamel tire.

Operations & lMaterial. Laber 0.H. Tot. Lab. Cost.
#7 Wheels B Gr #£0 P1, 100 sets ©
7.11% 711.850 711.50
Priming, 4 Gal, © 1.10 4,40 2.50 55 % 5.87 8.27
Chip & joint, 3,00 65 % 4.95 4,95
Cut, Roll, S%raighten & Weld,
2912 Lbs. O 2.48 72,21 9.B0 " 15,67 87.88
Shrink on Tires 4,00 6660 6.60
Drill & Countersink, 6.00 " 9.90 .90
Bolting, 5.00 " 8.25 8.25
Telloe Plates 7/8 Coach, 800 pes.
40 1lbs. © 6-1/5 2.48 2.48
Tire Bolts 3/16 = 12,
1600 1bs. © 13-1/8 2,10 £.10
Drive Screws 7/8 #10, 5600
38-8/9 Gr. © 114 ¢, 4.47 4,47
Box and True, 15 lhs. Lead © 74, 1.13 3,50 65 % B5.77 6.90
798,29 33 . 60 55.01 883,30

Above based on 1912 Price List for steel =~ all other

items 1913 rates apply.



SMITHSHOP.

100 Sets #4 Wheels B/2 & 3/6 Tired Complete U

Qperation &  lsterisl.

$#4 Wheels,B. Gr. #3 Fl. 100 sets
A Tell}

Priming, 4 Gals.? 1.10

Chip & Joint,

Straighten,Roll & Veld,

3725 ibs. Tire 3 1.97%

Shrink on Tires,

Drill & Countersink,

Bolting,

Felloe Plates,7,8,800 pcs. 35 1bs.
a 4%

Tire Bolts,3/16 x 1§ 5600 pcs.
) 13-1/8

Tire Bolts 3/16 x 2, 1600 pcs.
) 14-1/8¢

Thin Washers,3/16 5600 pcs. 6 1lbse
? 12

Sept 21lst-1912.

ith 1 x 1/4 R.E.Tire.

Q.H. Total Labe Coste

711450

55% 3.87 8427
65% 4.95 4.95
" 8425 81.81

" 5.77 5.77

" 9.90 9.90

" 9.90 9.90

1.06

7.35

2.26

T8

" 5.77 6.90

46.41 850.39

Box & True, 15 lbs. Lead O 7%

labor,
71150
4.40 2450
3.00
7356 5.00
550
6.00
6.00
1.06
7.35
L6
o T2
1.13 350
801 .98 £9.50



